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Not to an animal and not to cattle — 7Amab RYY TS RY

OVERVIEW

In P90 noon there is a dispute concerning a ">. Amongst the various
opinions, one is that a 13 is a species unto itself (but it is uncertain whether it
1s a 7’11 or 7172). Another is that a M2 is an offspring from a ¥v°n (a male goat,
which is a 7n72) and a 2% (a female °2%, which is a 7°17) or vice versa.
There is an additional dispute concerning an offspring of mixed parentage
whether we take into consideration the father as well as the mother, or
[perhaps'] we do not take the father into consideration at all. m»oIn explains
what is meant by that a 13 is not like a 77°17 or a fnn2
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The explanation of this ruling 7727 X?1 7°1% XY is concerning breeding;
one 1s not permitted to mate a 12 with either a 7°17 or a 7172, because we are
uncertain whether it is a species of 71°17 or a species of 2.

nooIn asks:
—NYP 1198 9393 11593 999 (x,2 97 poInY MINT INAY NN 2390 NYPN

=12"o8 277 asked according to the one who maintains that a "2 is

separate creature; it is not an cross breed of two other species but rather it is a

species on its own -
— 9919 Y5 NPODNRT DIYN NIYON NN

Why is it necessary to mention that the prohibition of 7¥2777 is because we

are in doubt, etc.; whether it is a 7n or a 7272 -
— 5508 by DN P PRT NINN DN DT P2 KD NI INT 199819 199N

' See footnote # 6.

% The n"27 mAaT inserts here the word 'o7v1p2'; indicating that Moo is citing s™"w" interpretation 2 7"72
where "W states X172 72 97101 12 RpodnT 1137, See (117KA) X"wamna. Others (O"nyy ,w"wa), however are not
'07uNP2’ 0M3; this is the w170 of MvoIN. It is their view that (according to MooN) we can deduce from the
mwnn WY where it states 737 X1 7P X7 concerning 7¥27;71 that the reason is because there is oo whether
the "> is a 70 or a M. For if there is no 90 as to its status then what is meant by 717372 X7 7°112 R?; any
species is not permitted to interbreed with any other species regardless if it is a 77°17 or 7272.

3 X" assumes that this 73wn follows the opinion that X7 ¥"53 712 12 and we are not sure whether it is a 71
or a 2. This would explain the 17 &poon, for according to the other opinions (including that a "3 is born
A% WoNa 1) there is no special Po0 concerning 1.

* According to the X"w1mn (see previous footnote # 2) the question is on *"@7; according to the w"wA the
question is on the mawn, why state 1727 X9 7°12 X7 (if anything, it should have said 7rRw» 75V 132277 PRY
2101 7n).

% >33 (78mp 7"17) X are translated as a hart (mature deer) and a gazelle (type of antelope) respectively.
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Even if we know that the "> is a "1 we could not interbreed it with

another 7°n for it is prohibited to breed an %X with a %23X (even though they
are both nrm).

mooIn replies:
— 1195280 1) WHNN 1 XAN NT M (ow) MINT INDPD NINNT 99D ¥

And one can say; that this mwn is according to the one who maintains

that a "> is one who is born from a male goat and a female gazelle -
— N9 IN AND Y919 PUYIN X )9 Xpoom

And our doubt is whether we are concerned for the seed of the father, or
not -

27538 799 195291 13590 PYWIN PNT N M INT
For if it would be assumed that we are not concerned for 2X7 V77, we
could breed her with a "2x.

SUMMARY

We are forbidden to interbreed any species with another species. According
to the opinion that ™2 is born from a 72x1 w°n, if we would maintain X
2R Y17 PwwIn it would be permitted to breed a 12 with a °ax.

THINKING IT OVER

Why is it necessary to state that a "3 is 717271 7°17% 10K because of the poo if
2R Y12 Wt or not, we could have said that it is 727291 77°7% 710K since we
are 2X77 ¥y712 wwin and therefore it is w°n? MoR (because of the aX) and to the
»2X (because of the 3&).8

% The opinion of 777 " in R,uY PN is that 287 Y% Pwwn PR. The X x there presents an X°v2°K does °"
mean unequivocally 2871 Y712 WY PR or perhaps he is doubtful whether ax7 ¥712 Pwwn or not. Our mwn
assumes the side of the X'v2>X that > is 7799 Xppon whether aR;1 vI12 Pwwn or not. Hence the reason a >3 is
7¥2772 Mo for a 7°m and a 7172 is because of this poo. If we assume that 287 ¥71% Pwwin, then the "3 is part
v n and part *2¥; and cannot mate with either a w°n or a "ax. However, if 287 ¥71% Pwwin PR then a "o is
considered a 72X like his mother and can mate with a °2X. This is the P50 that the 71w» (or *"w) alludes to
(not the P90 whether a *12 is a 7°1 or 7n73; but rather whether 2877 ¥ PWWIN or not).

7 This explains why we cannot breed it with a 7’11 (referring to the *2x); the 73w» also mentions that it cannot
be bred with a 7n72 in a case where it was a 7w N7 YY X277 2% (where the 2% is the a8 and 287 vI17 PUwIn).

¥ See 17"nx footnote # 71.
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